Multiplication et Division par 10* (B)

23 <+ 102

85 + 102

58 x 107

91 x 102

31 x 102

62 + 10°

17 x 102

82 =+ 102

64 <+ 102

62 x 102

Trouvez chaque produit ou quotient.

= 91 x 102

= 61+ 10° =

= 37 X 10% =

= 23 + 107

99 x 102

= 46 - 10% =

55 x 102

= 85 x 102

= 36 =+ 107

= 91 x 10% =
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Multiplication et Division par 102 (B) Solutions

23 +10%=0,23

85 + 10° = 0,85

58 x 10* =5 800

91 X 10°=9100

31 x 10*=3100

62 +10° = 0,62

17 x 10*=1700

82 + 10%=0,82

64 + 10% = 0,64

62 X 102 =6 200

Trouvez chaque produit ou quotient.

91 x 102 =9100

61+ 10°=0,61

37 X 10°=3700

23 +10%°=0,23

99 x 102 =9900

46 + 10% = 0,46

55 % 10%= 5500

85 x 10> =8 500

36 +~10°=0,36

91 x 102 =9100
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